



Module 1.2 – Answer to the Exercise





1.	The Worth (W) of a solution is equal to:

	(Please circle the corresponding letter for your answer)

�

	(a)	W = Value

			         Cost



	(b)	W = Value - Cost



	(c)	W = Cost

			        Value





2.	List 4 factors that you feel should be considered when estimating the Value (V) of a problem.



	(a)  Personnel-affecting factors (job satisfaction, etc.)



	(b)  Duration of training time (cost of delivery)



	(c)  Productivity of staff



	(d)  Service-affecting factors (outage time, etc.)





3.	Classify the costs listed below into training developmental costs and/or training delivery costs by placing an "X" in the appropriate columns.



COSTS�DEVELOPMENT

COST�DELIVERY 

COST��	Instructors' salaries��X��	Training aids (projectors, etc.)��X��	Production of training material�X���	Trainees' salaries��X��	Secretarial assistance�X�X��	Reproduction of consumable 	training materials��X��	Sound production equipment�X���	Course developers' salaries�X���



4.	State the 2 most important cost-affecting factors in systematic training development:



	(a)  Course developers' salaries





	(b)  Duration of the course to be prepared





5.	State the 2 most cost-affecting factors in training delivery:



	(a)  Trainees' salaries and allowances



	(b)  Depreciation of cost of buildings, equipment, etc.



	(c)  Duration of the course





6.	For each of the 4 major Modes of Delivery, give an example of a training technique:



	(a)  Group training/instructor dependent:  lecture/demonstration; guided group discussion



	(b)  Group training/validated materials:  films or video taped lessons; pre-prepared case studies with "model" answers



	(c)  Individualized training/instructor dependent:  tutorials, supervised practice



	(d)  Individualized training/validated materials:  programmed learning





8.			The cost of delivery would probably be less than for group-paced training since each trainee could only stay in training exactly the time he/she needs to be skilled (reduced training time).



			Also, there would be greater flexibility (employees can be released one by one when they need training) and better use of training facilities (courses can be conducted permanently).



			The value would probably increase because practically all trainees would acquire the necessary skills and there would be less drop-outs.  The value will also increase because new employees do not have to wait for a course to be organized to review their training.
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DECISION TABLES -- MODE OF DELIVERY



Cross the appropriate columns and add up the total

(7a)  Human Relations Course



�(individual)�(group)���Questions�Agree�Disagree�Don't Know���1.  The objectives rarely include "social skills"(human              	 relations), which require the interaction of individuals.��X���2.  Training is task-oriented rather than growth oriented.��X���3.  Different individuals in the target population (e.g. 	different categories) are to perform partly different 	tasks.�X����4.  The target population is heterogeneous (differences in 	previously acquired skills, aptitudes of learning style).�X����5.  Trainees are sophisticated self-learners.���X���TOTAL:�2�2�1���If more  crosses in this column, consider Indiv.-Trg�If more crosses in this column, consider Group-Trg���



Questions�Agree�Disagree�Don't Know��1.  The content of the topic is stable (expected to be valid 	with minor modifications 5 years or more).���X��2.  The number of individuals to train is important.�X����3.  It is important that trainees achieve the same standard 	(reliability of output).��X���4.  Qualified instructors are scarce and/or the turnover is 	high.�X����5.  The same training is to be implemented in various 	locations.�X����TOTAL:�3�1�1���If more crosses in this column, consider preparing validated trg material�If more crosses in this column, dev. of validated trg material may not be justified���
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DECISION TABLES -- MODE OF DELIVERY



Cross the appropriate columns and add up the total

(7b)  Cable Jointing Course



�(individual)�(group)���Questions�Agree�Disagree�Don't Know��1.  The objectives rarely include "social skills"(human              	 relations), which require the interaction of individuals.�X����2.  Training is task-oriented rather than growth oriented.�X����3.  Different individuals in the target population (e.g. 	different categories) are to perform partly different 	tasks.��X���4.  The target population is heterogeneous (differences in 	previously acquired skills, aptitudes of learning style).�X����5.  Trainees are sophisticated self-learners.��X���TOTAL:�3�2����If more  crosses in this column, consider Indiv.-Trg�If more crosses in this column, consider Group-Trg���



Questions�Agree�Disagree�Don't Know��1.  The content of the topic is stable (expected to be valid 	with minor modifications 5 years or more).�X����2.  The number of individuals to train is important.�X����3.  It is important that trainees achieve the same standard 	(reliability of output).�X����4.  Qualified instructors are scarce and/or the turnover is 	high.�X����5.  The same training is to be implemented in various 	locations.�X����TOTAL:�5�--�--���If more crosses in this column, consider preparing validated trg material�If more crosses in this column, dev. of validated trg material may not be justified���
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